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Bo3Al Bo3Al ﬁﬁrf”ﬁ BE | BIE E;L:ﬁ 12;; SHAE HEm

HhES 5 i.; (C) | #&(mg/L) malL) | (mg/L) (mg/L) =
T Bt
X 97.05.09 7.3 27.4 54.5 7.3 28.7 <15 <25
HEENO

* db 54’5%’
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PM_,(1g/m3) B 5B 68 61 125
TSP(ug/m3) 24/ \B5E 170 150 250
mE(C) B¥IRE 23.3 22.1 —
2 [E (%) SEIDEE 60.4 55.8 —
EIE RIBRIE NE NE —
[RR(m/s) EIHRR 1.8 3.7 —
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BE(C) 26.0 28.5 —
SRt SIREIEE 7.3 7.3 6.0-9.0
A, (mg/L) 5.4 4.6 >4.5
FERE(Mmo/L) 4.0 7.1 <4
=TS (mg/L) 18.6 13.1 <100
I EES(mo/L) 3.8 247 <40
i %ﬁb/cmZS@) 1850 662 —
% % (mg/L) 20.4 0.52 <0.3
&:?Jiiil_) 1.8 104 2.0x10* | <1.0x10%
-k 2 (m3/min) &g et 94.3 _
RPI3 4 4.25 5.50
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58 58 OHIE e EBEE MoEE | £vEE | BT | Ee | BE | o | RE
b iSiE (°C) | (umho/lcm25%C) (mg/L) g(mg/L) | E(mo/L) | @F | (mg/L) | (mg/L) | (CMH)

97.05.09 8.1 27.6 3540 2.8 <2.0 23.0 <25 13.1 <15 556
REE
8)5K | 97.05.13 7.6 25.6 3310 1.4 <2.0 18.0 <25 7.23 <15 15.18
RIEMR
(BOR 97.05.19 7.9 26.0 3300 1.8 <2.0 19.9 <25 18.9 <15 10.38
0 97.05.26 7.8 275 3280 <13 <2.0 15.3 <25 8.80 1.6 8.47
IR
O — — — — 20 20 80 — — — —
SOIEHE

5~98

LR <38°C
N — 6~9 10-47 — 30 30 100 550 — 10 —
YE(E 1047
SELERIEEE"RER THURKERE , (ITRIRIERE » 96.09.03) o
2.<2.0 mg/L”i‘%-_r\ﬂ%%;%m%%BCI7J<$$H%)JQ&’§%E@£9E{§/@ SNEZIR/\R2.0 mg/L  {KIBER8I 5 A(NIEAWS10.54B) B F H 2=

PRIH/ARIR2.0 my/LEFalSEit R
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0.087 ppm=7 & M= % r%%t’f%%l% 0.06 ppm - # 39 & i F >°
ZHE RMREZTF FRIEEAEET) %??;E'Jﬁﬁ B
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e 2R s A
BE

ES RIS EEEPD WS | =K | FEGN IV
= TTREERE

B8 B2 38| B RS 97.05.10 97.05.11 97.05.13 97.05.09
TSP( u g/m®) 24/ N8 173 150 199 102 250
PM, (1 g/m?) B¥i9E 69 61 92 29 125

25/ \FEeE 0.014 0.017 0.017 0.013 0.25
NO,(ppm) -

BY¥eE 0.011 0.012 0.014 0.011 —

SEANEEE 0.008 0.009 0.008 0.007 —
NO(ppm)

B¥eE 0.006 0.007 0.006 0.005 —

EXNEFFEeE 0.021 0.025 0.025 0.019 —
NOXx(ppm)

BY¥H5E 0.017 0.019 0.019 0.016 —

EX/EEE 0.005 0.005 0.008 0.005 0.25
SO,(ppm) -

BEHE 0.003 0.003 0.006 0.002 0.1

BANTFEBE 0.31 0.34 0.42 0.23 35
CO(ppm) =

28/ NEFEE 0.26 0.29 0.32 0.19 9
0.(ppm) 25/ \FEE 0.062 0.070 0.090 0.030 0.12

3PP BEA8/N\EFEE 0.054 0.057 0.087 0.025 0.06

THC(ppm) B¥5(E 2.33 2.38 2.38 2.27 —
NMHC(ppm) B¥15(E 0.15 0.18 0.18 0.13 =
CH,(ppm) B¥19E 2.17 2.20 2.20 2.14 —
BB(u g/m?d) BY¥H5E 1.5x103 7.8x10 5.0x103 7.3x10 —
BB u g/m?d) B¥i9E <1.3x10°2 <1.3x10°2 2.6x10°2 1.4x10°2 —
SBE(C) 23.0 22.1 24.3 28.1 —
HE[E (%) 63.9 55.8 66.3 70.9 —
B3ER(m/s) 45 3.7 2.6 3.0 —
SIERE NE NE NE NE —
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mg/Lv F’B’ /E;ukf&
4 %+0.234~1.39mg/L 2 FF -
£BE RIS % 5450025
mg/L ~ #0.0068 mg/L¢ » H
HENDE B & p SRR
2 I -

#/P | i 5

pEEe | By | e | TRIR | ki
97.0509 | 97.05.09 | KERE
IERERRES | me/L 1.39 0.234 _
TRE mg/L 22.2 3.27 _
fie mg/L 0.0068 — <0.05
i mg/L | N.D(MDL=0.0076) — <0.01
fRgs mg/L | N.D(MDL=0.0067) — —
i) mg/L | N.D(MDL=0.0064) — <0.03
7K mg/L | N.D(MDL=0.00010) — <0.002
pic mg/L | N.D(MDL=0.0062) — —
ifa] mg/L | N.D(MDL=0.0078) — <0.1
i mg/L 0.025 — <0.5
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o LE 1 +58.3-50. 9dB(A)_V
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& LAY » TRIEFER LB
B R R A RRIBRAT AR R o5 - AR

TRl %L, 43+52.9~56.4dB(A)2

Ly i %47 2~54.8dB(A) 2z

@ > L, 1% 44.3~49.2dB(A)2 & > ’ﬂ}i £ LR 2 E R o
158 PR P e BRI AL =
RB | anm | SLowEE | omoeas |nower | SoroS
Hhes (05 : 00~07 : 00) | (07 : 00~20 : 00) | (20 : 00~22 : 00) 00 : 00~05 : 00)
SEIERSE | 97.05.11 56.4 59.9 54.8 49.2
YE1EEN/ N | 97.05.10 52.9 58.3 47.2 44.3
SEEHD | 97.05.10 54.6 58.9 53.0 477
RSEHEBEAER! — R E=HIRSESE
RInS SRS 60 65 60 55
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Y228 L% Mw-L | Mw-2 | Mwss |oBH7 | BRSS BER L z;ié Z;;LH;: 4%
B(F - fa) | (7 - %)
& %3 AR 'C 6.7 6.9 6.9 7.0 6.8-7.0 - -
B R - 256 | 250 | 256 | 27.2 24.2-25.6 - -
Y mmho/cm25°C | 1420 | 1440 | 1600 | 1590 1500-1670 - -
ETY mg/L <13 | <13 | <13 | 228 11.1-1020 -
IR mg/L <02 | <02 | <02 | <02 - -
E mg/L 518 | 476 | 563 | 6L7 2.3-49.2 625 -
o B mg/L 392 | 425 | 520 466 466-626 625 -
R § mg/L 183 | ND | 895 | 013 0.04-0.94 25 100
Py mg/L 008 | 014 | <002 | 130 0.18-7.66 0.25 -
R mg/L ND | ND | ND N.D <25-99 - - MDL=3.6
Ak mg/L ND | ND | ND N.D - - 0.02 MDL=0.00010
o mg/L <0.0020 | 0.0020 | <0.0020 | <0.0020 - 0.250 05 MDL=0.00043
o mg/L ND | ND | ND N.D - 5.0 10 MDL=0.0064
g mg/L ND | ND [ ND | <0.020 - 0.250 0.50 MDL=0.0067
i mg/L ND | ND | ND N.D - 0.025 0.05 MDL=0.0076
¢ mg/L ND | ND | ND N.D - 0.250 0.50 MDL=0.0078
4 mg/L <0020 | ND | ND N.D - 25.0 50 MDL=0.0095
m mg/L ND | ND | ND N.D - - 10 MDL=0.0062
5 mg/L N.D | 0131 | <0.050 | 0470 3.97-35.8 150 - MDL=0.013
A mg/L 154 | 264 | 281 | 049 0.5-3.0 0.25 -
Lggya | CFU/AOOML | <10 | <10 | <10 85 <10-1.4x10° ~ -
A CFU/mL 50 22 26 | 1.6X10° | 4.3x10°-14x10¢ —~ ~
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o L. ] yuiFaV e L
; , BE 3ok
“e | BT 3 % i | pwd | Awd | Hgd | meg | PCUR | poy) | VIO 5
(#/m) | (E&/R) | (F/B) | (@/H) | (@&/5) | (PCU/EH)
Bd ¥ 43 204 8 1 256 245 1600 | 015 | A
%156 | 9.2
BR 37 197 9 0 243 234 1600 | 015 | A
B B 13 28 1 0 42 37 2000 002 A
% 29 8.4
5% & 11 26 1 0 38 34 2000 | 002| A
BB 65 234 8 2 309 289 2000 014| A
291 | 14.4
Bk R 91 231 8 2 332 299 2000 015| A
BRI K % 30 116 1 0 147 133 2000 | 007| A
192 | 10.6
B E 31 121 0 0 152 137 2000 | 007 | A
Shimo kB LRV . .
. , 2 PR A%k
EX N ES b W | rwd | 4w | B | mey | PCU (ﬁéu) vic o
Gal3) | (Bwl3) | (swlm) | (/%) | @) | (PCUI®)
FE ! 66 263 14 1 344 327 1600 | 0.20 A
%1156 | 9.2
el I 78 254 12 1 345 320 1600 | 0.20 A
Az # 43 38 1 0 82 62 2000 | 0.03 A
229 | 84
L 42 54 1 1 98 80 2000 | 0.04 A
Az 98 259 13 3 373 343 2000 |+ 0.17 A
291 | 14.4
ok 119 266 14 2 401 360 2000 | 0.8 A
ver | 106 LEES Rt 64 63 0 0 127 95 2000 | 0.05 A
- | AR R 59 62 2 0 123 96 2000 | 0.05 A

211 PCU(| % 8 % § #0)=(1 # x0.5)+(}- 2 & x1.0)+(= 2} & x2.0)+ (3 7.2 x3.0)
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